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VRK/KS/14/382

Bachelor of Business Administration (B.B.A.)
First Year Examination

STATISTICAL METHODS FOR BUSINESS
Paper—7
Time : Three Hours] [Maximum Marks : 80
N.B. :— (1) Attempt any FIVE questions.
(2) All questions carry equal marks.
Define Statistics. Explain its scope and functions.
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16
2. Describe the methods of collection of statistical data.
Explain its merits and demerits. 16
3. What do you mean by Time Series ? Explain its
components and its importance. 16 -
4. Calculate mean, median and mode from the following ,.§
table : -;::
Wages in Rs. No. of Persons ‘;‘
Above 30 520 -
Above 40 470 E
Above 50 399 S
Above 60 210 5
Above 70 105 g
Above 80 45 - =
Above 90 7 16
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5. Calewlate Quartile Deviation and Co-efficient of Skewness

from he following daia .—

Marks No. of Students
Less than 40 3
Less than 50 27
Less than 60 S0
Less than 70 164
Less than 80 194
Less than 90 200 16

6. Calculate co-efficient of correlation between Income and
Expenditure :
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Income : 45 55 55 55 60 60 65 65
Expenditure : 35 40 45 50 40 55 55 60
16

7. Construct Index Number of Price from the following
data by applying :
(a) Laspeyre’s method
(b) Paache’s method
(c) Fisher’s Ideal method
(d) Bowley’s method.
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2012 2013
Commodity Price | Quantity | Price | Quantity
w 4 20 6 10
X 3 15 5 23
Y 2 25 3 15
Z 5 10 4 40
16
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8. A card is drawn at random from a pack of 52 well
shuffled cards. Find the probability that it is a :

() Red "2:
(i) Club =
- - E‘
() King g
(iv) King of Club. 16 %
=]
9. From the following data find : E
(M The two regression equations. E
~
) =
() The most likely sales whose advertisement expenditure =
is ¥ 20 lakhs.

(i) The most likely expenditure on advertisement to make
a sale of T 150 lakhs. =
<
Advertisement Exp. Sales ';‘:
(in Lakhs ¥)  (in Lakhs %) >
=
Mean 10 90 =
s
Standard Deviation 3 12 S
=
Co-efficient of correlation : 0.8. o
S
16 =

MIS—46531 . 3 6 12 (Contd.)
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10. Compute the trend line and production for the
year 2008 :

MIS—46531

Year
2001

2002
2003
2004
2005
2006
2007

Production (in tons)

4

80
90
92
83
94
99
92
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16

6050
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